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Midterm Exam Answer Sheet
1. What are the advantage(s) and disadvantage(s) of hotels using part-timers? (2 Points)

Some of the advantages of using part-timers might be:

· Labor cost saving for the employer as cost will not include fringe benefits and various legal commitments (ex. Employer’s contribution to Social Security or Unemployment Insurance)

· The presence of labor when it is needed. Hence, employer can adjust better to demand fluctuations.

· This kind of employment might be the only possible alternative for certain special category of potential labor (ex. Women with babies or child (ren), students…).

Some of the disadvantages of using part-timers might be:

· Cost of training part-timers against the benefit of using them usually for a short period of time.

· There is no guarantee that part-timers will perform within standards of the company and, hence, quality problems might be observed.

· Part-timers might have less motivation, be less productive and exhibit non-loyal behaviors.

2. Explain how job descriptions can be used as tools to conduct training and / or re-training. (2 Points)

After recruiting somebody for the job, department head or immediate supervisor have to sit with the new recruit and discuss with him / her management expectations as well as tasks and sub-tasks that form his / her work position (i.e. show job description). The recruit, then shall thoroughly analyze tasks with his supervisor and come out with areas where he / she needs to be trained or re-trained.
3. Why shall hotels consider the stages guests passes by as a cycle? (2 Points)

By considering the stages guests passes by as a cycle, hotels stress the importance of repeat business (i.e. deliver, at each stage of the guest cycle services in a professional and caring way as to create guest delight and, hence, increase the potential that a departed guest will come back again to the hotel).
4. Why shall registration clerks determine “Guest’s Reservation Status”? (2 Points)
Registration clerks shall determine guest’s reservation status to differentiate between two types of guests: Guests with reservation and guests without reservation (i.e. Walk-ins). This differentiation is important as the way those two types of guests are approached and the time spent to register them as well as rate charged differs.

5. Why shall Accounts Receivable Clerks / Night Auditors / Computerized Systems watch out Folios’ Net Outstanding Balance? Under what risk hotels might be if they don’t do so? (2 Points)

Accounts receivable clerks / night auditors / computerized systems shall watch out folios’ net outstanding balance to ensure floor limit won’t exceed it. If, unfortunately, floor limit exceeds net outstanding balance of a folio, the hotel might be under the risk of running after a departing guest to collect the exceeded amount, since credit card companies are not liable for any amount requested that exceeds a previously blocked limit from credit card. This risk might eventually, upon failure to collect from departed guest, turn out to a revenue loss for the hotel. 
6. Blue Ray Holiday Village agrees to allot 3D Tour Operator 07 Single, 18 Double & 05 Triple rooms for the period running from 08/10/2012 (Monday) till 21/12/2012 (Friday) for each Wednesday & Friday arrivals for 2 nights. According to the allotment contract signed between both parties, 3D Tour Operator has to send its final list latest 5 days before actual arrival of any group.
a) When is the first group estimated to arrive to Blue Ray Holiday Village? (1 Point)

The first group is estimated to arrive on Wednesday 10/10/2012.

b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is Friday 05/10/2012.

c) Suppose, by the cut-off date of the first group, 3D Holiday Village communicated a Final List showing a need of 05 Single, 16 Double & 03 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 7 + 18 + 5 = 30 rooms.

· Number of rooms requested (Final List) = 5 + 16 + 3 = 24 rooms.

· Number of washed out rooms = 30 – 24 = 6 rooms.

· Wash out factor percentage = (6 / 30) * 100 = 20.00 %.

7. Why should Front Office and Housekeeping departments come together to reconcile their room status reports? What problems might be encountered if such reconciliation is not frequently conducted? (2 Points)

Front office and housekeeping departments shall come together to reconcile room status reports in order to detect room status discrepancies and solve them before it is too late. Frequently failing to do so, the following problems might be encountered:
· Hotel won’t be able to detect skippers (revenue loss).
· Front office clerks might escort guests to dirty or occupied rooms.

· Guests might spend a lot of time waiting in the lobby for their rooms to be readied. Sometimes, a room is clean and available for sale, yet guest is asked to continue waiting in vain.

· Housekeeping department can better plan its cleaning and inspection schedules.

8. Explain, how direct billing (as a method of payment) procedure is handled by hotels? (2 Points)

Prior to arrival or at arrival stage, guests (usually repeat and VIP) shall apply for direct billing privilege by filling an application form and providing usually a credit card from which hotel shall block a certain amount (floor limit) for hotel purposes and let the guest sign a virgin copy of the credit card. Later, guest, not only have the allowance of consuming at any point of sale in the hotel without being forced to pay on the spot, but at departure is provided the privilege of signing his / her folio and depart from the hotel without finalizing payment. Sometime later, hotel will send the bill to the departed guest, who is liable and responsible to deposit the owed amount at any nearby bank with which said hotel operates.

9. What are vouchers? Why hotels use intensively vouchers? Choose any type of voucher (used during guest cycle) and explain its effect on the Net Outstanding Balance of a folio?  (3 Points)

Vouchers are documents, used for internal purposes, which prove that transactions have in fact occurred. Due to objectivity principle, any transaction can only be journalized after having all necessary supporting documents proving it. This is the main reason why hotels have to use intensively vouchers for any transaction related to guests.
There are a lot of vouchers that can be prepared during guest cycle. Some of them as long as their effect on the net outstanding balance are as follows:

· Charge voucher → Increase net outstanding balance.

· Correction voucher → May decrease, increase or have no effect on the net outstanding balance depending on the nature of the posting error.

· Allowance voucher → May decrease, increase or have no effect on the net outstanding balance depending on the nature of the posting error. On the other hand, it decreases the net outstanding balance if it is used as a compensation for poor services or as a rebate.
· Transfer voucher → Decreases the net outstanding balance of one folio and increases the balance of the other folio with the same amount.
· Cash voucher → Decrease net outstanding balance.

· Personal check voucher → Decrease net outstanding balance.

· Credit card voucher → Decrease net outstanding balance.

· Special program voucher → Decrease net outstanding balance.

· Direct billing voucher → Decrease net outstanding balance.

10. At Nene Hotel, Germain has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 1,014.60
- Food Charges


$ 675.23
- Beverage Charges


$ 75.52
- Telephone Charges


$ 102.00
- Extra Charges


$ 25.75
- Payment (During Stay)

$ 375.00
- Guaranteed Reservation Payment 
$ 225.00
Suppose that Germain decided to settle his guest folio, 40 % by credit card, 25 % by Personal Check and the remaining by Special Program.
a) What is Germain’s Net Outstanding Balance? (2 Points)

· Net outstanding balance = total charges – total payments = (1,014.60 + 675.23 + 75.52 + 102 + 25.75) – (375 + 225) = 1,893.10 – 600 = $ 1,293.10.
b) Journalize the zeroing of the guest folio. (2 Points)

    Dr


     Cr.

-------------------------------------------------------------------------------------------------------------

Credit Card Payment Account
$ 517.24


Personal Check Payment Account
$ 323.275


Special Program Payment Account
$ 452.585







Guest Account

$ 1,293.10

-------------------------------------------------------------------------------------------------------------
c) What are the supporting documents needed as to close properly Germain’s folio? (2 Points)

· Credit Card Voucher with an amount of $ 517.24.
· Personal Check Voucher with an amount of $ 323.275.
· Special Program Voucher with an amount of $ 452.585.

· An invoice with an amount of $ 1,293.10.
11. Çalımbay Club consists of 325 rooms. Mr. Rıza has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Çalımbay Club needed to overbook for the night of November 28th 2012. 

Mr. Rıza was given the following information at hand, both updated and concerning the night of November 28th, 2012: 

· Number of rooms reserved: 


205 rooms

· Number of rooms occupied by stayovers:
85 rooms

· Forecasted No-show Percentage:

3 %

· Forecasted Understay Percentage:
 
4 %

· Forecasted Overstay Percentage:
 
5 %

· Forecasted Cancellation Percentage: 

6 %

· Expected Out Of Order Rooms:

2 rooms

Suppose you are the Rooms Division Manager in Çalımbay Club. Since Mr. Rıza is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Rıza to come up with:
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (3 Points)

· Total number of rooms expected to be occupied for the night of November 28th, 2012 = 205 + 85 = 290 Rooms
· Adjustment due to no-shows  = - 3 % * 205 = - 6.15 Rooms
· Adjustment due to understays  = - 4 % * 85 = - 3.40 Rooms
· Adjustment due to overstays  = 5 % * 85 = + 4.25 Rooms
· Adjustment due to cancellation  = - 6 % * 205 = - 12.30 Rooms
· Total adjustment = - 6.15 – 3.40 + 4.25 – 12.30 = - 17.60 Rooms
· Total number of rooms expected to be occupied for the night of November 28th, 2012 (after adjustment) = 290 – 17.60 = 272.40 Rooms
· Total number of rooms available for sale for the night of November 28th, 2012 = 325 - 2 = 323 Rooms
· Maximum number of rooms to be additionally reserved for the night of November 28th, 2012 = 323 – 272.40 = 50.60 Rooms
· Total number of rooms expected to be reserved and occupied for the night of November 28th, 2012 = 290 + 50.60 = 340.60 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 290 + 50.60 – 323 = 17.60 Rooms.
c) The overbooking factor? (2 Points)

· Forecasted Occupancy Percentage = 340.60 / (325 – 2) * 100 = 105.45 %
· Overbooking Factor = 105.45 % - 100 % = 5.45 %.
N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.

GOOD LUCK!
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